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This reads like a suggestion 
rather than explanation of the 
topic.

These are examples not 
arguments. Write argument 
based points. Examples are 
used to validate your 
argument.
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These don't answer the how

Your outline is a list of examples or case studies. There 
are no arguments highlighted 
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Indent at the beginning of paragraph

Unrelated to the topic
And to the context.
This does not signify change
This signify the importance 
Of starting something, it 
Signifies consistency 
It does not signify change

Again that is another 
concept, another 
philosophy. Not the 
one related to topic.

The idea here is unclear.

You have used 3 
different kinds of 
attention grabbers. 
All three relating to 
some different 
concept.

Instead of generalising, use
an anecdote of an actual
motivational speaker.

According to the context 
Of the topic your statement 
Is incorrect. They are not 
Interchangeable. They are 
Inseparable. 

No overview and 
understanding of the 
topic communicated 
in the outline.
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Directly address the argument in 
the topic sentence. This does not 
match the tone of the topic.

This also does not talk about 
progress, neither about 
change

Unnecessary details. Instead 
focus on change and how it 
led to progress. Your focus is 
spread out through the 
whole story which does not 
clarify the point you are 
trying to make.

What is the role of change here? 
What in this story signifies that it 
was change that led to progress 
and not something else. There is 
no comparison between the 
society before and after change so 
progress is not clear as well.Sweeping statement

Paragraph is focused more 
on example than the 
argument. Example should 
take 1-2 sentences the rest 
should be analysis based 
discussion.
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Redundant expression

Write in 3rd person

Don't make arguments on the conditions of "if"

Expression and tone do not match 
The topic. Establish and present an
Argument before the example

This does not focus on change 
and progress this is more about 
the personalities discussed.

Discuss this in a separate 
paragraph. It would make an 
example for a separate argument. 
This has no argument just example 
after example.
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Does not highlight the value
Of change for progress

You are not discussing different
Aspects of change and how they
Are imperative for each and
Every kind of progress. You
Are simply saying in this field
Progress happened due to this
Personality and in this other
Field progress was due to this.
It does not focus on the relationship
Between change and progress.

How do you categorise this as progress. What 
is the criteria for something to classify as 
progress?

This is all very explosion heavy. It 
labs any sort of analysis and 
academic discussion.
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Unrelated to the topic 

No relation to progress

Irrelevant to the topic.

It focuses on what happend not how 
change is imperative to progress.
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Body paragraphs are two long.

What changed? How it led to 
progress? What is the argument 
here?

This does not signify change. 
You are focusing on instances 
when something changed. But 
not on the reason as to how that 
change led to progress or why is 
progress impossible without 
change. These questions are not 
answered through out the essay.
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No Coherence and Cohesion
No clear transition between ideas.

This reads like suggestion not how 
change is inevitable for progression 

Sentence structure

Montreal Protocol was 
signed in the 80s. That's 
what resulted in ozone 
recovery. 
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Sweeping statement

No argument in the 
paragraph
Only example.

Lacks analysis and discussion 
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Lacks  a proper closing. Does not 
review the discussion. Too short.
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